SN AS0IBAIEE
B s

S5l ns 2% 9 IZAE A2 (9 83)
SA - BB o9 (E) - NRAY - BES O &t Tl e HmE2
1,234,280 1,287,373 /53,003
I20ISAEE 2 185,000 185,000 0
= 1,049,280 1,102,373 53,003
1,022,165 1,071,082 A48,917
&2 18018 % ATHIHE s 185,000 185,000 0
= 837,165 886,082 A48,917
564,986 584,578 A19,502
HE - 7S 2 B4 g s 185,000 185,000 0
== 379,986 399,578 A19,502
s&tE MOS0l 2t a4 194,986 214,578 A19,502
101 el24d| 80,453 83,479 A3,026
10 JIZHZ22NsEs 80,453 83,479 A3,026
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OsdtE JISAIES g+ 11,284 14,260 A2,976
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201 Ysr2gy| 48,808 58,564 £9,756
01 AtR2reltl 8,722 10,384 A1,662
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OsttEMEAH2A 7,500 10,500 23,000
OAZIHEH 4 5,000 7,500 A2,500
oxz2 | 7,200 9,000 A1,800
Oxrgztel & |l 7,200 9,000 21,800
(OXE=4:] 355 500 N 145
202 Ol 10,572 12,586 22,014
01 =3LHAbI 10,572 12,586 22,014
OAEHTEZ0F 823 1,500 1,950 AN450
©2008= M W& A2 & 400 650 A250
S420/1801 78 HEXS A 800 1,040 2240
OStXNESI MIIA & ZZ2te| 3,126 4,200 21,074
207 A1 IHEHH 55,153 59,949 VAV N(C
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CNEENE: 16,500 17,500 £2,000
OsdEHEN2EAHR(5E) 6,500 7,500 A 1,000
OSHAIXSX MHHHII=H2(108) 9,000 10,000 A 1,000
ONBBETIIT 12,000 14,000 £2,000
O XASX MEHDI=H7(105) 5,000 6,000 A 1,000
OsASIIBAE HLHR(BE) 3,500 4,000 A500
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S | =R,
SH-ZH.H2A(3) - NRAS - BLES Ol &k JEAH Huns2

OB MEIISHL(105) 3,600 4,000 2400
ONESEXDI|IZ 13,760 14,600 N840
OXMHAS X131 (355) 6,800 7,000 A200
ODEINX MELIMMNL(65) 3,360 3,600 A240
OBiA MHEIJIE HEHR(105) 2,250 2,500 A250
OZBAMZII=2ML(105) 1,350 1,500 A150
OANEEM2 14,486 15,400 A914
OXHAS XH 57 (205) 4,750 5,000 A250
ODSIIIX MSATHOHE (185) 5,100 5,400 A300
OtA MES S47(108) 4,636 5,000 N364
HAb Bzl 283,867 297,020 A13,153
HA2E 2 Rl 283,867 297,020 A13,153
201 LEt2 Y| 283,867 297,020 A13,153
01 ArRZeld 20,059 23,880 3,821
OFAZCIE SEFY 3,000 4,000 A1,000
OFA A2 LAY 1,679 3,000 A1,321
(OFsPNE=E=21= 6,500 8,000 A1,500
O®I| LI EH 3,000 4,000 A 1,000
ONEESEH 3,500 4,000 A500
02 23294l 263,808 273,140 19,332
OZEARME A2 164,136 168,000 N3,864
OZEARMEL A2 90,096 93,960 13,864
OZ&E I RMHE AIZEH RXH| 4,250 5,000 AT50
OSAAIE S22 240 600 A360
oMo+ E2 3,360 3,600 A240
OERP/FSEA=s= 1,246 1,500 A254
HHSA AU (SLMS0ISAIEY) 212,115 216,291 N4,176
J|1223l 25,477 29,653 N4, 176
SN2 J|=23H| 19,577 23,753 N4, 176
201 et gy| 14,831 17,993 A3,162
01 ArRZeld 14,415 17,493 A3,078
ORANESY AR 22l 14,415 17,493 A3,078
02 B=2gH 416 500 N84
SA2E 23294 416 500 N84
202 01t 4,746 5,760 A1,014
01 2U0iHl 4,746 5,760 A1,014
ORAMEY U0 4,746 5,760 A1,014
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